
“Pidevaja süsteemide analüüs”
Ülesanne nr.1

Antud:    u(t), H(s).
u(t) y(t)

H(s) Leida:   y(t), y(0), y(∞).
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Ülesanne nr.2
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yv(t)  - vabaliikumine

ys(t)  - sundliikumine

y(t) = yv(t) + ys(t) 



Ülesanne nr.3

Variandid:  0, 2, 4, 6, 8

u(t)

H1(s)

H0(s)H2(s)
y(t)

n(t)

–

–

H0(s),  H1(s),  H2(s)  antud lk.9  ja 10.

Leida:   1)  Huy(s),  Hny(s) ?

2) y(0) ja y(∞), kui u(t)=21(t) ja n(t)=δ(t) ?



Variandid:  1, 3, 5, 7, 9

u(t)

H1(s)

H0(s)H2(s)
y(t)

n(t)

+

–

H0(s),  H1(s),  H2(s)  antud lk.9  ja 10.

Leida:   1)  Huy(s),  Hny(s) ?

2) y(0) ja y(∞), kui u(t)=51(t) ja n(t)=δ(t) ?
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